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LABOUR LEGISLATION

Time : 3 Hours Max. Marks : 120

&

Instruction : A single answer booklet containing 40 pages will be issued.
No additional sheets will be issued.

SECTION — A
QTN - D

I. Answer the following : (20x3=60)
FINSNT), wv3020.

1)

Explain the obligations of employers under Factories Act of 1948.
30050 5903, 1948 T TFo0 BROBD e dRLIHT TEITWNGT) DO

OR/eg =
Explain the different provisions under the Maternity Benefit Act,1961.
TR ao&g} , 19610 @dﬁr{e‘d@t Ao} N

Explain the objectives and functions of International Labour Organisation.
@oédm%eoja FOF B AOTFEIOD UTEBTD 0B @qsmssg{ QOR.

OR/eg =
Explain the obligations of the employers underthe Workmen’s Compensation
Act,1923.
BOANDTC TOTT 5903, 1923 T Hga0 RO ﬁ%mdm@di DO

Explain the obligations of employers and employees under Provident Fund
Scheme.
‘Q Q. T :%ewaq’ SROeFI &%mmﬁeﬁ Bone FORMTT ﬁ%mcbﬁ#di DO

OR/eg=
Explain the different provisions under the Industrial Employment Standing
Order Act, 1946.

3Mo0s BXRNT 503, 1946 3 L@EEndd SSveOATRN BR8)NTR) HS0R0.
P.T.O.
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SECTION - B
QTN - W

Il. Answer any six of the following : (6x6=36)
wﬁﬁd)ﬁ%ﬁ’q O3NR)TTTR e:sdaﬁaﬂ emgom.

1) Write a short note on social security measures.
ADTIT PITD TWOTOTH Wi 83203 WTBCWO.

2) Explain the duties of an employer to pay gratuity.
‘BECRTE BTN ' BT, RO ééra"néﬁe}agl QO

3) Write a short note on Occupational Hazards.
‘B3R, NG pony’ 2 833069 WBOWO.

4) Explain the eligibility for bonus.
N2IZFE Y3 BRI VTLICTT 9B INTEO ?

5) Explain the scope of Social Security Measures.
TOTIE YT T2 TOTT T a%ejobﬁgt QTOA.
6) What are the benefits under Equal Remuneration Act ?
RSN eSS Toodyod o0, @oﬁmmdﬁ#&ii QWOR. .
7) What are the penalties for contravention of Maternity Benefit Act, 1961 ?
TRRS 503 , 19610 2eorY, BROE ST BowR, V2. 9

8) What are the objectives under Employees State Insurance Act, 1948 ?
NTRENTY DR T, 19483 wc?géﬁ%gt QO3

SECTION -C
QNI - &

Ill. Answer any four of the following : (3x4=12)
FINTYNIY CIRPYTRETR TOYRY YISO
1) What are the methods of calculating Gratuity under Gratuity Act, 1973 ?

‘BeaBRTS BRI VRS 5903, 19730 FFo0 BeadRTEm AR VRS S51RT
TRBED BT amwﬁ@’@t DR 4
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2) Explain ‘social assitance’.
‘TOWINWT ATHOD dabq QTIOA.
3) What are the features of labour welfare measures ?
T B0 TOTOTD rbsaoq_\sam*sgt SQA.

4) Write a note on social insurance.
‘TORIIT DR ' o BOOBd £33¢3 WwBoD.

5) Give the importance of Employees Provident Fund Scheme.
Q. . T AT TWNDIODI SR

6) What is Accounting Year under Payment of Bonus Act, 1965 ?
NOTITF G033 5903, 1965 T3 ‘ST DRF ' Q0T ?

SECTION -D
N - &
IV. Answer the following questions : (1x12=12)
NS FINIS, GBOR.
1) Give the meaning of ‘Gratuity’.
'BeABRTT BRTON’ 0 LGF 393

2) What do you mean by ‘Casual Leave’ ?
‘AOTFT T2 0T3BE0 9

3) What do you mean by ‘Temporary Disablement’ ?
‘BT QYOS D0TTERD ?

R

4) Give the meaning of labour welfare.
‘FOOFTT T’ TOT ecﬁraﬁdg{ SPA.

5) Who is called as ‘Occupier’ ?
‘OROPRTT * 0T 03T ?

6) What do you mean by ‘Miscarriage’ ?
'S0 TRS ' DoTTER ?
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7) Give the meaning of ‘Apprentice’.
‘T oLin” TOB e:sc;ﬁraiabq O3,

8) Who is Probationer ?
‘aa:@&@s UBREN’ 0T o3Rd ?

9) What do you mean by Seasonal Industry ?
‘TSRS LUTRY 0BT ?

10) When was International Labour Organisation formed ?
€90300T0&, 0D FOQFT OGS0 zs%au’é SNT) 033N 7

11) What is compensation ?
‘TOTHT’ 0TTER ?

12) Define employment injury.
‘PTIR,ENT RO * TR, TR0




